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Part T KEXiFMHEER
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Model Test One

Part | Listening Comprehension (20 minutes)
Section A
Directions ; [n t/iis section. vou will hear 10 short conversations. Al the end
of each conversations a question will be asked about wohat was said. Both
the conversation and the question will be spoken only once. After each
question there wwill he a pause. During the pause. vou must read the four
choices marked A) B)o C) and D) und decide which is the best answer.
Then mark the corresponding letter on the Answer Sheet with a single line
through the centre.
Example .
You will hear: W 1 certainly hope the library will be open this Saturday.
M: The sign says library hours! Week days 8 am. to 9 pm. On Saturdays
9 to 5. closed Sunday.

Q: When will the library be open on Saturday?
You will read:

A. 8am. to 9 am.

B. 5am. 10 9 pm.

C. 9am. to 5 pm.

D. Closed.

From the conversation we know that the twn are talking about
library hours. On week days the library is open from § am. to 9 pm. On
Saturdays it is open from 9 am. to 5 pm. Thercfore C) *9 10 53" is the
correct answer. You should choose [C] on the Answer Sheet and mark it
with a single line through the center.

Sample Answer [A] [B] [¢7[DC
1. AL Because he s il
B. Because he enjoys it.
C. Because he leads an empty life.



D. Because he has many social activities.
2. A Ten. B. Twelve. C. Fourteen. D. Sixteen.
3. A. He suggested they take their own food when they go 1o the beach.
BB. He suggested they stay at home and watch TV.
C. He suggested they buy some food in the store.
D). He suggested they go to the cinema.

4. A. Searching for a hotel. B. Eating in a restaurant.
C. Rerting a house. D. Selling a car.

5. A. Bosx-secretarv. B. Doctor-patient.
(. Teacher-student. D. Salesman- customer.

6. A. The man should send applications to more companies.
B. The man should sce the manager in person.
C. The man should make a phone call to the manager first.
D. The man has to wait patiently for reply.

7. A Indifference. B. Apology
C. Anger. D. Anxiety.
8. A. Sking. B. Drinking.
C. Eat ng. D. Taking a photo.
9. A. 7881--{001. B. 87148-4001.
C. 8748-1004. D. 8478-1004.
10. A. In a hospital. B. In a clasxsroom building.
C.In a drugstore. D.Ina cinema.

Section B
Directions: In this section you will hear 3 short pussuges. At the end of
each passage. vou will hear some questions. both the passage and the
questions will he spoken only once. After you hear a question. vou must
chouse th - hest answer from the four choices marked ) B C)e and 1)).
Then snark the corresponding letter on the Answer Sheet with o single line
throug .. che centre.
Passage One
Questions 11 to 11 are based on the passage you have heard.
11. A. School teacher. B. A cotton farmer.

C. Ar engineer. D. A slave.
12. A "le was tired of removing seeds by hand.

. He hoped to make his father happy.

(. He wanted to reduce the price of cotton.

D. He dreamed of earning a lot of money.
13. A. In the late 18th century.

B. In the early 19th century.

C. In the middle of the 18th century.

N



D.In the middle of the 19th century.
14. A. The machine cleaned cotton fifty times faster than a man did.
B. Cotten grew chiefly in the southern part of LS.
C. Eli Whitnev became rich because of his invention.
D. The machine worked in a simple way.
Passage Two
Questions 15 to 17 are based on the passage you have just heard.
15. A. To describe that day’s weather.
B. To warn people of possible danger.
C. To give the regular weather report.
D. To interrupt the radio program.

16. A. 90 mile. B. 19 miles.
C. 99 miles. . 9 miles.

17. A.In the kitchen. B. In the bath room.
C.In the garage. D. In the basement.

Passage Three
Questions 18 to 20 are based on the passage you have just heard.
18. A. A university teacher, B. A salesman.

C. An unknown guest. D). Not mentioned in the passage.
19. A. He drank too much and fainted.

B. He mistook Shakespeare for a drink.

C. He didn’t know what whisky was.

D. He cheated the others.
20. A. The [irst businessman was cleverer than the second.

B. The second businessman was better-educated.

C. The second businessman was also poor in knowledge.

D. The first businessman was a heavy drinker.

Part I Reading Comprehension (35 minutes)

Directions: There are four passuges in this part. Each passage is
Jollowed by some questions or unfinished statements. For each of them
there are four choices marked A)y B)y C) and DY . You should decide on
the best choice and mark the corresponding letter on the Answer Sheet with
a single line through the centre.

Passage One

Questions 21 te 25 are based on the following passage.

I. Q. stands for "Intelligence Quotient” which is measure of a
person’s intelligence found by means of an intelligence test. Before marks
gained in such a test can be useful as information about a person. they
must be compared with some standard. or norm. It is not enough simply

0/.



to know that a boy of thirteen has scored. say. ninety marks in a
particular test. To know whether he is clever. average. or dull. his
marks must be compared with the average achieved by boys of thirteen in
that test.

In 1906 the psvchologist. Alfred Binet (1857 —1911), devised the
standard in relation to which intelligence has since been assessed. Binet
was asked to find a method of selecting all children in the schools of Paris
who should be taken out of ordinary classes and put in special classes for
defectives CF] 8189 A ). The problem brought home to him the need for
a standard of intelligence. and he hit upon the very simple concepr of
"mental age”.

Firs: of all. he invented a varicty of tests and put large numbers of
children of different ages through them. He then found at what age each
test was passed by the average child. For instance. he found that the
average child of seven could count backwards from 20 to 1 and the average
child of three could repeat the sentence: “We are going to have a good

time in the country.”

Binet arranged the various tests in order of
difficulty. and used them as a scale against which he could measure every
individual. H. for example, a boy aged twelve could only do tests that
were passed by the average boy of nine. Binet held that he was three
vears below average. and that he had a mental age of nine.

The concept of mental age provided Binet. and through him. other
psychologists, with the required standard. It enabled him to state scores
in intelligence tests in terms of norm. At first. it was usual to express the
result of a test by the difference between the *“mental” and the
“chronological (SXBR4E H )”"age. Then the boy in the example given would
be “three years retarded GR§if)”. Soon. however. the “mental ratio”
was introduced; that is to say, the ratio of the mental age to the
chronological age. Thus a boy of twelve with mental age of nine has a
mental ratio of 0. 75.

The mental age was replaced by the intelligence quotient or “I. Q. ”.
Clearly, since the mental age of the average child is equal to the
chronological age, the average 1. Q. is 100.

21. To judge a child’s standard, his marks in a test must be compared
with marks gained by
A. others of the same age
B. older and younger children
C. a number of children aged thirteen
D. the same child when at different ages
22. Which of the following words could best be used to replace “concept”
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without changing its meaning?
A. Device. B. Trick. C. Idea. ). Norm.
23. Binet used large numbers of children in his tests because he wanted to

find out _

A. who were the brightest
B. the defectives
C. what a bright child could do
.« norm
24, What is the mental age of an 11-years-old girl who can pass a test for
the age of 147
AL L 27, B. 1. 00. C.2.50. 10,75,
25. The "1.Q. " is .
AL the mental age divided by the chronological age and multiplied by a

hundred
B. the mental age multiplied by the chronological age and divided by a
hundred
C. the chronological age divided by the mental age and multiplied by a
hundred ’
D. the average age divided by the mental age
Passage Two
Questions 26 to 30 are based on the following passage.

The farmer knows something that the whole of civilized mankind
seems to have forgotten. namely. that the resources of life on our planet
are not inexhaustible. In the United States it was only after wide stretch
of land had been turned into desert through ruthless use of the top soil.
after large districts had been wasted by tree-felling. and countless useful
animal species had died out that these facts gradually began to be realized
again. mainly because many large agricultural and fishing industries began
to feel the effects financially. Nevertheless. the truth has only just began
to penetrate to the consciousness of the general public.

When civilized man destroys blindly the natural environment
surrounding and sustaining him. he threatens himself with ecological
ruin. Once he begins to feel this economically he will probably realize his
mistakes. but by then it may be too late. Least of all does he notice how
much this savage process damages him mind.

How can one expect a sense of awe (#{f2) for anything in the young
when all they see around them is man-made and cheapest and ugliest of its
kind? For the city dwellers. even his view of the sky is dimmed by the
skyscrapers and chemical clouding of the atmosphere. No wonder the
progress of civilization goes hand in hand with the raournful disfigurement
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(B3 of town and country.

26. The direct reason that people began to realise the ecological problem is
A. the farm(r explained the problem to them
B. many ficlds had been turned into desert
(. the problem had a harmful influence on the profit in agriculture and

fishing

D. many animals no longer exist

27. In the sentence “the truth has only just begun--
refers to
A. that the resources of life on the earth are not unlimited
B. that the American government has ignored the ecological problem
C. that the farmer is cleverer than the civilized man
D. that there are not many trees in the United States

28. Paragraph 3 illustrates
A. hcw modern man destroys hls environment
B. how ecological destruction damages our mind
C. that civilized man in the future will destroy himself
D.it’s too late for us to correct our mistakes

29. In the 3rd paragraph, the author seems to believe that we should have

”

the word “truth”

a sense of
AL surprise for the modern buildings
B. hatred for the ecological ruin
€. responsibility for the progress of civilization
D. respect for the things created by nature
30. If a chemical factory was built next to the city where the author lives.
the author would probably
A.ignore its building B. protest its building
C. agree to its building D. visit the factory
Passage Three
Questions 31 to 35 are based on the following passage ;

Although the total population in U. K. has remained relatively stable
in the last decade, there have been noticeable changes in the age and sex
structure. including a decline in the proportion of young people under 16
and an increase in the proportion of elderly people, especially those aged
85 and over. The estimated age distribution of the British population in
mid-1980 was roughly as follows: under 16 years. nearly 20 per cent; 16
—64, 64 per cent; and 65 and over. 16 per cent. Some 18 per cent of the
population were over the normal retirement ages (65 for men and 60 for
women ). compared with 15 per cent in 196].

« 10 -



